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�[LY ����� KDODPDQ���� JDPEDU���� WDEHO��� ODPSLUDQ�

7DPDQ� EHUPDLQ� PHUXSDNDQ� NULWHULD� XWDPD� OLQJNXQJDQ� LGHDO� EDJL� VHWLDS�
DUHD� NDZDVDQ� SHUXPDKDQ�� +XQLDQ� \DQJ� EDLN� PHPLOLNL� UXDQJ� WHUEXND� \DQJ�
PHPDGDL� EDJL� VHOXUXK� SHQGXGXN� GDQ� PHQ\HGLDNDQ� VDUDQD�VDUDQD� NKXVXV� \DQJ�
GLEXWXKNDQ�ROHK�SHQGXGXN�VHNLWDU��3HUPDVDODKDQ�\DQJ�EDQ\DN�WHUMDGL�GL�NDZDVDQ�
SHUXPDKDQ�DGDODK�SHPDQIDDWDQ�UXDQJ�WDPDQ�EHUPDLQ�NXUDQJ�GLRODK�GHQJDQ�EDLN�
VHLULQJ� GHQJDQ SHUNHPEDQJDQ� NHEXWXKDQ� SHQGXGXN WHUXWDPD� JHQHUDVL� ]��
.XUDQJQ\D� RSWLPDOLVDVL� IXQJVL� WDPDQ� EHUPDLQ� SDGD� NDZDVDQ� SHUXPDKDQ�
PHQ\HEDENDQ� NHWHUWLQJJDODQ� IXQJVL� WDPDQ� EHUPDLQ� VHEDJDL� UXDQJ� VRVLDO \DQJ�
EHUNHODQMXWDQ�

3HQHOLWLDQ LQL�GLODNXNDQ�GHQJDQ�VWXGL SHPDQIDDWDQ�UXDQJ�WDPDQ�EHUPDLQ�GL�
NDZDVDQ�SHUXPDKDQ�GHQJDQ�PHQHUDSNDQ�NDUDNWHULVWLN� OLQJNXQJDQ�JHQHUDVL�]�GDQ�
SDUDPHWHU� GHVDLQ� NXDOLWDV� OLQJNXQJDQ� WDPDQ� EHUPDLQ�� 'DWD�GDWD� \DQJ�
GLNXPSXONDQ� GDODP� VWXGL� OLWHUDWXU� GLEXNWLNDQ� GDQ� GLSHODMDUL� OHELK� ODQMXW� GDODP�
VWXGL� NDVXV� SDGD� VDODK� VDWX� OLQJNXQJDQ� SHUXPDKDQ�� $QDOLVLV� GLODNXNDQ�
EHUGDVDUNDQ� �� NDUDNWHULVWLN� OLQJNXQJDQ� JHQHUDVL� ]� \DQJ� GLDQWDUDQ\D� DGDODK�
IOHNVLELOLWDV�� NHDVOLDQ�� SLOLKDQ�� LQWHJUDVL� GDQ� NHQ\DPDQDQ� GHQJDQ�PDVLQJ�PDVLQJ�
NXDOLWDV� OLQJNXQJDQ� GDQ� SDUDPHWHUQ\D�� +DVLO� DQDOLVLV LQL� EHUXSD� SHPDQIDDWDQ�
UXDQJ� WDPDQ� EHUPDLQ� \DQJ� GLNHORPSRNNDQ� EHUGDVDUNDQ� EHQWXN�EHQWXN� UXDQJ�
VRVLDO�JHQHUDVL�]�SDGD�REMHN�GDUL�VWXGL�NDVXV�

+DVLO SHQHOLWLDQ� LQL� PHQMDEDUNDQ� EHQWXN�EHQWXN� UXDQJ� VRVLDO� JHQHUDVL� ]�
SDGD�REMHN�VWXGL WDPDQ�EHUPDLQ��$GDQ\D SURGXNVL�UXDQJ�VRVLDO GL�WDPDQ�EHUPDLQ
GLSHQJDUXKL� ROHK� NHWHUVHGLDDQ� UXDQJ� WDPDQ� EHUPDLQ� VHEDJDL� VDUDQD� \DQJ�
PHQJXQGDQJ� WHUMDGLQ\D� LQWHUDNVL� VRVLDO��.HUDJDPDQ�EHQWXN� UXDQJ� VRVLDO� WHUFLSWD�
VHLULQJ�GHQJDQ�PHQLQJNDWQ\D�LQWHQVL�NXQMXQJDQ�JHQHUDVL�]� \DQJ�GLSHQJDUXKL�ROHK�
SHUDQFDQJDQ� SHPDQIDDWDQ� UXDQJ� WDPDQ� EHUPDLQ� EHUGDVDUNDQ NDUDNWHULVWLN�
OLQJNXQJDQ� JHQHUDVL� ]�� 5XDQJ� WDPDQ� EHUPDLQ� PHPLOLNL� EDQ\DN� SRWHQVL� XQWXN�
PHPSURGXNVL�UXDQJ�VRVLDO�JHQHUDVL�]�
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�[LY������ SDJHV���� ILJXUHV���� WDEOHV��� DWWDFKPHQW�

3OD\JURXQGV� DUH� WKH� PDLQ� FULWHULD� RI� DQ� LGHDO� HQYLURQPHQW� IRU� HDFK�
UHVLGHQWLDO�DUHD��$Q�DSSURSULDWH�UHVLGHQWLDO�KDV�DGHTXDWH�RSHQ�VSDFH�IRU�WKH�HQWLUH�
UHVLGHQWV�DQG�SURYLGHV�VSHFLDO�IDFLOLWLHV�QHHGHG�E\�WKH�VXUURXQGLQJ�UHVLGHQWV��7KH�
SUREOHP�WKDW�RIWHQ�RFFXUV�LQ�UHVLGHQWLDO�DUHDV�LV�WKH�XVH�RI�SOD\JURXQG�VSDFH�WKDW�LV�
QRW�SURFHVVHG�FRUUHFWO\�DORQJ�ZLWK�WKH�GHYHORSPHQW�RI�UHVLGHQWV
�QHHGV��HVSHFLDOO\�
JHQHUDWLRQ� ]�� 7KH� ODFN� RI� RSWLPL]LQJ� WKH� IXQFWLRQ RI� WKH� SOD\JURXQG� LQ� WKH�
UHVLGHQWLDO� DUHD� FDXVHV� WKH� SOD\JURXQG� IXQFWLRQ� WR� ODJ� DV� D� VXVWDLQDEOH� VRFLDO�
VSDFH�

7KLV�UHVHDUFK�LV�FRQGXFWHG�ZLWK�D�VWXG\�RI�WKH�XVH�RI�SOD\JURXQG�VSDFH�LQ�
UHVLGHQWLDO� DUHDV�E\�DSSO\LQJ� WKH�FKDUDFWHULVWLFV�RI� WKH�JHQHUDWLRQ�]� HQYLURQPHQW�
DQG�GHVLJQ�SDUDPHWHUV�RI�WKH�SOD\JURXQG�HQYLURQPHQW�TXDOLW\��7KH�GDWD�FROOHFWHG�
LQ�WKH�OLWHUDWXUH�VWXG\�LV�SURYHQ�DQG�VWXGLHG�IXUWKHU�LQ�D�FDVH�VWXG\�LQ�RQH�RI�WKH�
UHVLGHQWLDO� QHLJKERUKRRGV�� 7KH� DQDO\VLV� ZDV� FDUULHG� RXW� EDVHG� RQ� ILYH
FKDUDFWHULVWLFV� RI� JHQHUDWLRQ� ]� HQYLURQPHQW� LQFOXGLQJ� IOH[LELOLW\�� DXWKHQWLFLW\��
FKRLFH�� LQWHJUDWLRQ�� DQG� FRQYHQLHQFH� ZLWK� HDFK� HQYLURQPHQWDO� TXDOLW\� DQG� LWV�
SDUDPHWHUV�� 7KH� UHVXOWV� RI� WKLV� DQDO\VLV� LQFOXGH� WKH� XVH� RI� SOD\JURXQG� VSDFHV��
ZKLFK� DUH� JURXSHG� EDVHG� RQ� WKH� IRUPV� RI� VRFLDO� VSDFH� IRU� JHQHUDWLRQ� ]� RQ� WKH�
REMHFW�RI�WKH�FDVH�VWXG\�

7KH�UHVXOWV�RI�WKLV�VWXG\�GHVFULEH�WKH�IRUPV�RI�VRFLDO�VSDFH�IRU�JHQHUDWLRQ�]�
LQ� WKH�REMHFW�RI� WKH� VWXG\�RI�SOD\JURXQGV��7KH�DYDLODELOLW\�RI�SOD\JURXQG� VSDFHV�
LQIOXHQFHV� WKH� H[LVWHQFH� RI� WKH� SURGXFWLRQ� RI� VRFLDO� VSDFHV� LQ� SOD\JURXQGV� DV� D�
PHDQV�RI�LQYLWLQJ�VRFLDO�LQWHUDFWLRQ��7KH�GLYHUVLW\�RI�IRUPV�RI�VRFLDO�VSDFH�FUHDWHG�
DORQJ�ZLWK�WKH�LQFUHDVLQJ�YLVLWDWLRQ�LQWHQWLRQ�RI�JHQHUDWLRQ�]��ZKLFK�LV�LQIOXHQFHG�
E\�WKH�GHVLJQ�RI�WKH�XVH�RI�SOD\JURXQG�VSDFH�EDVHG�RQ�JHQHUDWLRQ�]�HQYLURQPHQWDO�
FKDUDFWHULVWLFV��7KH�SOD\JURXQG�VSDFH�KDV�D�ORW�RI�SRWHQWLDOV�WR�SURGXFH�JHQHUDWLRQ�
]�VRFLDO�VSDFHV�
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